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Slopes of lines and 
urves

The slope of a line

Linear fun
tions produ
e straight-line

graphs. In general, a straight line follows

the following equation:

y = a + bx ,

where a and b are �xed numbers.

The line on the graph is the set of points:

{(x , y) : x , y ∈ R, y = a + bx} .
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Slopes of lines and 
urves

Segment slopes

Let's assume we have a more general fun
-

tion

y = f (x).

To �nd the slope of a line segment, 
onsider

2 x-
oordinates, x
0

and x
1

, and look at the

slope between (x
0

, f (x
0

)) and (x
1

, f (x
1

)).
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Slopes of lines and 
urves

The slope of y = x
2

Consider the task of 
omputing the slope of

the fun
tion y = x2 at a given point.
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Slopes of lines and 
urves

The tangent to a 
urve

A tangent to a 
urve is a line that interse
ts

the 
urve at exa
tly one point. The slope of

a tangent for the fun
tion y = f (x) at the

point (x
0

, f (x
0

)) is

lim
h→0

f (x
0

+ h)− f (x
0

)

h
.
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Slopes of lines and 
urves

The slope of a general 
urve
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We 
an have positive slope in the right hand side of the

graph and negative slope in the left hand side. The slope

is zero at x=0 as shown in the �gure 2
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